6.30 Rational Exponents.notebook May 15, 2018

Solutions

Nov 20-18:35

1. Write in radical form. Then evaluate without using a calculator.
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2. Write in exponent form, then evaluate. Express answers in rational form.
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3. Writeasa single power.
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5. Ewvaluarte.
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6. Write as a single power, then evaluate. Express answers in rational form.

a) 4%(40-5) ) %‘: e) M
_ ;=403 be-1 _ —-2§ 02) - ¥
SO e e
_ , Y 2 _ .S ~oxS
= ¢ = &4 3 = (%= "°
— 2 _ - 0.25
= & = 6
[\
:</e>
o
-2

May 14-13:55



6.30 Rational Exponents.notebook May 15, 2018

6. Write as a single power, then evaluate. Express answers in rational form.
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7. Predict the order of these six expressions in terms of value from lowest to
highest. Check your answers with your calculator. Express answers to three

decimal places.
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4. Simplify. Express answers with positive exponents.
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5. Simplify. Express answers with positive exponents.
(10x} ]}"s 50":)2
a 3y 4n 2 2x2 3 AT S e) —4—— 71
) (3xy")*(2x7) ©) T ](p)(p) <
2 2 8 6 3 _ F ré’
—(3 x v 2 == 3 | —
3 f
1S pirtp

(cbc 8Y8x 3)

n
i ('o

= NP Y

%-%é =P Ff P
15 -4
A
_ "
(50t = —
P

%

'y glﬁ)




6.30 Rational Exponents.notebook

May 15, 2018

5. Simplify. Express answers with positive exponents.
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6. Simplify. Express answers with positive exponents.
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6. Simplify. Express answers with positive exponents.
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